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Questions 1.t0:10 carry ‘1 mark each. Questions 11 to 15 carry 2 marks each, For each -questlon, four
options are given. One-of these is the eomrect answer. Make your chmce (1 2 3 or 4) and shade. the
oval (1,2,3 or4) on the Optical Answer Sheet. _ - (20-inarks)

1. Johnisx kg Victor is 3 fimes as heavy as John. What is Victor's mass?

1) G+x)ke

@ (@-x)kg
@) (Bx)kg
“ (5) kg

2. Mary went shopping with $12x. She bought a pair of shoes for $4x. She also bought a dness thai
cost $2x l_g_ than the pan‘ of shoes. How much had she left? _

a  $3x
@) $4x
3)  $6x
@) . $7x

3. . Express 0.34 as a percentage.

1} 0.34%
2) 34%
@) 34%
4 340%
4. There are 40% more boys than girls at a concert. If there are 48 more boys than girls, how many
- girls are there?
1) 8
2 24
3y 120
(4) 28%
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-~ -400: pupils were asked:to choose their favourite sport. 10% of them chose badmintor, 12% .
- chose soccer, 26% chose: basketball - and the rest chose table temns How many pupnis choseg -_
‘table tennis as their favourite sport? .

(1 40
@ 104
3y 12
@ 208

A dictionary costs $40. A story book costs 80% as much as the dictionary. How much does the
story book cost?

O

@ $10
3)  $30
@ $32

The sizes of the angles of a triangle are in the ratio 3 ; 4 : 8. If the sum of the 3 angles is 180°,
what is the size of the largest angle?

(1y ~ 9%0°
2 9%°
(3) 105°
@ 120°

There are tiger barbs and .guppies in a fish tank. % of the total number of fish are tiger barbs.
What is the ratio of the number of guppies to the number of tiger barbs?
Q) 6:7

2) 7:6
(3 6:13

@ 7:13
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-i-é-i What is the mlssmg numbcr in the box? '

‘Which one of the follbwi’i_lg \frémi.ons has fhe smaliest val'ué,?_

Sje afw Za elw

" Divide 3 by -1% How many halves are there in the answer?

)

@

€)
@)

John is k years old. In 7 years’ time, his father will be twice as old as he How old will his fatl:e

60
30

6

be, in terms of k in 7 years’ time?

w
&

)

2k + 7) years old

2k +7) years old

years old

2k+7
2

years old
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13.

"

15. .

e William had 25% more stickers than John at first ‘When John gave 30 stickers to ‘William, he
had half of what William had. How many stickers did John have at first?

)
@
(6]
@

@
- (3)
@

@
NE)
)

N ta e i

30 t
60

90

120

. 'The length of a rectangle is increased by 20% while its breadth is decreased by 10%. Exp_res_s
~ thearea of the new rectangle as a percentage of the area of the original rectangle.

@

54%

108%
118%
120%

-}" of the audience watching & coricért were adults and the rest were children. -§~ of the adults.

were women. What was the ratic of the numiber of women .to the nuinber of children?

(1

3
16
3
9
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Qucsttons 16 1o 25 carry I mark each. Write ‘your answers in the spacesprowded For guestions which
require units, give your-answers in the units stated. _ . (10" marks)

16. MrsLee bought a melon for x cents and four apples for 90 cents. She paid the cashier $10. How
- much change did she get? Express your answer in terms ofx.

./

Ans: cents

17/./, Jobnis ¥ years old. Jack is 4 years older than John. What is their total age in 12 years’ timé?

— .

Ans: years

18. - What is the fraction exactly halfway between % and -g in its simplest form?

o
P
[

1% ’ John has a rope measuring 410 cm. Peter S rope is %m longer than John’s rope. Find the length.
v of Peter’s rope
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_ 2

During a sale, Tom paid $960 for a oomputer ata dlscount ofa 20%. What was the price of the

- _computer before the discount?

Ans: $

21

William saved 10% of hlS income every month. When his monthly i income was increased by

10%, his savings beoame $132. What was his original monthly income?

Ans: $

22.

3 :
Express p) as a percentage.

There were § Brownies and 5 Scouts on duty at a school sports day How many percent fewer
Soouts than Brownies were there? :
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24,

"I'hemass ofatablels-s- ofthemass ofa cupboard ’I‘hemassofachauls—;- ofthemass ofthe

' cupboard Find the ratio of the mass of the table to the mass of the oupboard to the mass of the |’
chair. '

3 , Ans;

- 25,

The ratio of the height of a triangle to its base is 4 : 3. If the area of the triangle is 96 cm?, find | -
its bage.’
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- Questions 26 to 30 carry 2 marks each.. Show _your working.clearly in the space below. each questlon )

'andvmte your answerSmthe Spaces prowded For quesﬁons whzch Tequire units, give yom- answers in

26. A group of 7 pupils spent an average amount of $y on Iunch 5 of them spent an average amount' |
of $24 on the lunch. What was the average expendlture of the remaining pupils? -

Ans: $

27.  John is 36 years younger than his father. John will be % of his father’s age in 4 years’ time.
Find John’s present age.

28.  There were 50 questions in a Mathematics test. Sam answered 85% of them correctly while
Nicky answered 80% of them correctly How many percent more questions did Sam answer
correctly than Nicky?



Administrator
Rectangle


29, $60x is divided between Tony and Joe in the ratio 1 : 2. How much does Joe get?

Ans:

30.  If 6 similar robots can clean 40 rooms in 8 days, how many rooms can 12 such robots clean in 2
days? '
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Questlons 1to 5 carry 2 marks each. Show your working clearly in the space below each question
and write your answers in the spaces prov:lded For questions. whlch Tequire units, gwc your answers
in the units stated. o _ _ (10 marks)

1. Peter withdrew % at his savings from the bank. He used -;— of the money to buy a set of
DVDs and had $360 left. Howmuch was his total savings in the bank at first?

Ans: §

2. When Tom spent % “of his money and Carol spent’ % of her money, they had an equal amount

of ‘money left. Express the amount of money Tom\ had at first as a fraction of the amount of

money Carohad at first.

Ans:

3. A concert hall has 600 seats. 25% of the seats are premier seats while the rest are standard seats.

How many premier seats must be added so that the number of premier seats will be increased to
70%7

Ans:

]
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4, A worker mixed sand and cement in the ratio 5.: 6. i each kg of sand cost $2 50 and each kg of
cement cost $] 40 find the cost of 200 kg of’ such mlxture

Ans: §

5. The lengths of two rectangles are 11 m and 19m respecnvcly Their total area is 321 m?. What
is the dlﬂ'erence in their areas?
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“For Questions 6 to 18, show your workmg clearly in the space provided for each quest:lon and write
‘your answers clearly in the spaces provided. The number of marks available is shown in the
brackets [ Jattheend of gach question or part-question. _ o o (SO_marks)

6,. In ahbmry, 15% bf the books are Tamﬂ books,&(}% of ’the rema.mder are Malay books and the
rest are Chinese books. If there.are 442 Chinese books, how many books are there in the
library altogether?

Ans: 3]

Jill and Tom had a collection of stickers each. Jill’s'collection was é that of Tom’s. If Tom

gave Jill 171 stickers, his remaining stickers would be % that of Jill’s. How many sﬁckcrs

did Jill have at first?

Ans: 3]
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- 8 N A truck Was’.fenying some w’orkers to wor'k. Aldng the way, -; of the '__qul;ei's got oﬂ‘ at the "
1 stop and 2 workers got on the truck. At the 2“" stop, %— of the workers 'got off and 6 '

workers got on the truck. If there were 26 workers on the n'uck then, how 1 many workers _

were on the truck at ﬁrst‘?

- Ans: : L]

9. John multiplies the month and the date on which he was born by 31 and 9 respectively. The
sum of the two resulting products is 170. Find the month and the date when he was born.

Ans: 3]




10.  Class 5A has 44 pupils. 18 of them enjoy playing. badmmton. 13 of them enjoy piaymg
$OCCeT. 5 pupxls enjoy both aciivities. How many puplls do not like ezther activity?

Ans: .f3].

11, Johnhad $8y at first, After paying for 2 exercise books at 3 y each and 3 pens.at $2 each he
| had just em}ugh money o pay for 5-boxes of penciis.
{(a) What was the price of each box of pencﬂs in terms of y”

(byHy= -3, what was the cost'of each box of pencils?

Ans: (2) 2]

(®) _ _[2]

1/7




12, - William, Joe.and Kenny. sold funfair tickeis to raise funds. Each ticket was priced at $1.2;

| William sbi'df % of the ﬁcﬁgﬁcs. Joe and Kenny so"l_.d- thé remmmng ﬁckets in the raﬁo 1:2

respectively. Kenny sold 98 tickets mofg:‘ than William. How much m‘onéy-did they coneéf
altogether? o

Ans: 4

13.  Mrs Ton had $800 at first. 80% of her money consisted of $5 notes and the rest-were $10
-+ notes. After she spent some $5 notes, the remaining $5 notes was 60% of the money she had
left. How much did Mrs Tan spend?

Ans: [5]




14,

There are 147 pages m a Science tethook. What is the total number of d1g1ts on all the
pages of the textbook‘?
Ans: 31
15. A group of people went hunting. On the average, & people hunted 5 rabbits, 15 people

hunted 2, deer and 10 people hunted ] buffalo. The total mumber of animails hunted was 6

more than the total ffiimber of people Who went hunting. How many people went hunting?

Ans: _IA]

<




16.

'In May, Amy withdrew é— of her savings from the bank. This amount was $640. In June,

she deposited % thér salary mtcb the bank and her savings became $p.

() What was Amy5s salary for the month of June, interms of .p.?

(b)) I p=32852, find Amy’s salary for the month of June.

Ans: {a} 13]

(b} [2]




17.

The number of adults who visited an exhibition was 600 more than the nuimber of chﬁdten
on the first day. On the second day, the number of children who visited the exhibition
increased by 30% and the number of aduits decreased by 20%. Given that there were 2160

visitors on the second day, what was the ratio of the number of adults to- the number of
children who visited the ex}nbmon on the first day?

Ans: (5]

0

10




18.

- The ratio.of the number of black beads to the number of red beads was 4 : 5, When half of
. the. red beads were removed from the box, there were 117 beads left in the box.

: :,.__a) How many red beads. were removed from the box?
. b) How many beads were there at first?

Ans: a) | [2}

b) [3]

End of Paper
1
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313 3 3 4 4 2 2 | 4 1 3 (1 4 2 1 4|

16)(910-x) 17)(2x+28) 18)71/84 19)4.85m  20)$1200
21)$1200 22)75% 23)37.55  24)8:10:5 25)12cm
26)$(7y-120/2) 27)14 28)6.25%  29)$140x  30)20rooms

Paper 2
1)$1800 2)5/9 3)900 4)$380 5)207 6)1300

7)342 8)35 - 9)12" February  10)18 pupils
11)a)$(6y-6/5) b)$2.40  12)$3024 13)$520 14)333
15)90 people  16)a)$4(p-1280/3) b)$2096  17)7:4

18)a)45 red beads Db)162 beads

— &AW

2l
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